> dsolve( D(x)(t) = 3*x(t));

i x(t)= Clé'
[> dsolve( {D(x)(t) = 3*x(t), x(0)=7});
x(t)=7¢"

> dsolve( D(x)(t) = 3*x(t) + cos(t));

__3 1 3¢
x(t) = 10 cos(t) + 10 sin(¢) + Cle

> dsolve( {D(x)(t) = 3*x(t)+cos(t), x(0)=7});

_ 3 Lo T
x(t) = 10 cos(t) + 10 sin(t) + 10 e

f> with(DEtools):

> dsolve( {D(x)(t) = 3*x(t), D(y)(t)=2*y(t)});
{x()=_C2&" y(t)=_C1&'}

{x(t) =& y(r) =*"}

o8 8

> plot( [5*exp(3*t), 3*exp(-2*t), t=-1..1]);

> dsolve( {D(x)(t) = 3*x(t), D(y)(t)=2*y(t), x(0)=1, y(0)=1});

> plot( [exp(3*t), exp(2*t), t=-4..2], scaling=constrained);

@)
)

©)

(4)

)
(6)
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ot( [dlff(x(t) t) = 3*x(t) dlff(y(t) t)y= -2*y(t)],
t), y(t)] =-2..2, XxX=-2..2,
(0)=1, y(O) 1] [x(0)=- 1 y(O) 1]] Ilnecolor black);



y(t)+ 3*x(t)],

2*y(t)],
.2)], linecolor=black);
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k], k=-2..2,

1, y(0)

[x(t), y(t)], t=-2..2, x=-2..2, y=-2..2,

[seq([x(0)

> DEplot( [diff(x(t),t) = 3*x(t), diff(y(t),t)
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x(t), dlff(y(t) t)= -2*y (t)+3*x(t)],
-2 2 =
:-2..2y, 2)] Ilnecolor black);
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> dsolve( [diff(x(t),t) = 3*x(t), diff(y(t),1)= -2*y(t)+3*x(t), X

(0)=1, y(0)=1] );
b=yt =5 &+ 5 e ™
B DEplot( [diff(x(t),t) =5 t), diff t =
e t__2).2’ X_><_( ) . Iy—(-yZ( )2t) -4*y (1)1,
[seq([x(O) 1, y(0)=k], k=-2..2, .2)], linecolor=black);
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> DEplot( [diff(x(t),t) =
[x(t), y(t)], t=-2..2,
[SGQ([X(O) 1, y(0)= k]
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> DEplot( [diff(x(t),t) = 2*x(t), dlff(y(t) t)y=2*y(t)],
[x(t), y(t)], t=-2..2, x=-2..2, y=-2.
[seq([x(O) 1, y(0)= k] k=-2. 2 .2)], Ilnecolor black);
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> DEplot( [dif
[x(t), y(t)
[seq([x(0)

1
e e —

X ),2 Iff(sl(t) t)y=x(t)-4*y(t)],

, ZH Ilnecolor black);
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> DEplot( [diff(x(t),t) = 2*x(t)+3*y(t), diff(y(t),t)

-x(t)-4*y (1)

1,

X=-2..2, y=-2..2,
k], k=-2..2, .2), seq([x(0)=-1, y(0)=k], k=
black);

2,

=1, y(0)

[x(t), y(t)], t=-2..

[seq([x(0)
-2..2, .2)], linecolor
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